GBUS502
Exam-type questions
Chapter 1

1.
Which of the following statements is most correct?

a.
One advantage of forming a corporation is that you have limited liability. *
b.
Corporations face fewer regulations than sole proprietorships.

c.
One disadvantage of being a sole proprietor is that you have to pay corporate taxes, even though you don’t realize the benefits of being a corporation.

d.
Statements b and c are correct.

2.
The primary goal of a publicly-owned firm interested in serving its stockholders should be to

a.
Maximize expected total corporate profit.

b.
Maximize expected EPS.

c.
Minimize the chances of losses.

d.
Maximize the stock price per share. *
3.
Which of the following actions are likely to reduce agency conflicts between stockholders and managers?

a.
Paying managers a large fixed salary.

b.
Increasing the threat of corporate takeover.   *

c.
Placing restrictive covenants in debt agreements.

d.
All of the statements above are correct.

4.  Which of the following statements is most correct?

a.
A good goal for a corporate manager is maximization of expected EPS.

b.
Most business in the U.S. is conducted by corporations; corporations’ popularity results primarily from their favorable tax treatment.

c.
A good example of an agency relationship is the one between stockholders and managers. *
d.
Corporations and partnerships have an advantage over proprietorships because a sole proprietor is subject to unlimited liability, but investors in the other types of businesses are not.

Chapter 2
5.
Which of the following statements is most correct?

a.
If an investor sells 100 shares of Microsoft to his brother-in-law, this is a primary market transaction.

b.
Private securities are generally less liquid than publicly traded securities.

c.
Money markets are where short-term, liquid securities are traded, whereas capital markets represent the markets for long-term debt and common stock.


d.
Statements b and c are correct.  *
6.   Which of the following statements is most correct?

a.
While the distinctions are blurring, investment banks generally specialize in lending money, whereas commercial banks generally help companies raise capital from other parties.

b.
Money market mutual funds usually invest their money in a well-diversified portfolio of liquid common stocks.

c.
The NYSE operates as an auction market, whereas NASDAQ is an example of a dealer market.   *
d.
Statements b and c are correct.

7.
Which of the following is an example of a capital market instrument?

a.
Commercial paper.

b.
Preferred stock.   *
c.
U.S. Treasury bills.

d.
Banker’s acceptances.

8.
Money markets are markets for

a.
Foreign currency exchange.

b.
Consumer automobile loans.

c.
Corporate stocks.

d.
Short-term debt securities.  *
Chapter 3

You have just obtained financial information for the past 2 years for Sebring Corporation.

SEBRING CORPORATION:  INCOME STATEMENTS FOR YEAR ENDING DECEMBER 31

(MILLIONS OF DOLLARS)


  2008       
2007 

Sales
$3,600.0  
  $3,000.0

Operating costs (excluding depreciation and amortization)
 3,060.0
 2,550.0
  EBITDA
$  540.0
$ 450.0

Depreciation and amortization
    90.0
    75.0
  Earnings before interest and taxes
$  450.0
$  375.0

Interest 
    65.0 
    60.0
  Earnings before taxes
$  385.0
$  315.0

Taxes (40%)
   154.0
   126.0
Net income available to common stockholders
$  231.0
$  189.0
Common dividends
$  181.0
$   13.0

Shares outstanding







100m.    

   100m.

Stock price








$32

$23

The finance staff has concluded that the firm’s after-tax percentage cost of capital (equity plus debt) is 10%.

SEBRING CORPORATION:  BALANCE SHEETS FOR YEAR ENDING DECEMBER 31

(MILLIONS OF DOLLARS)


         2008    
    2007
Assets:

Cash and marketable securities
$   36.0
$   30.0

Accounts receivable
   540.0
   450.0

Inventories
   540.0
   600.0
  Total current assets
$1,116.0
$1,080.0

Gross fixed assets
990.0
825.0

Net fixed assets
   900.0
   750.0
Total assets
$2,016.0
$1,830.0
Liabilities and equity:

Accounts payable 
$  324.0 
$  270.0

Notes payable
   201.0
   155.0

Accruals
   216.0
   180.0
  Total current liabilities
$  741.0
$  605.0

Long-term bonds
   450.0
   450.0
  Total debt
$1,191.0
$1,055.0

Common stock
   150.0
   150.0

Retained earnings
   675.0
   625.0
  Total common equity
$  825.0 
$  775.0
Total liabilities and equity
$2,016.0
$1,830.0
9. What is Sebring’s net operating profit after taxes (NOPAT) for 2008? 

a.
$150,000,000

b.
$225,000,000

c.
$270,000,000   *
d.
$375,000,000

10. What is Sebring’s net operating working capital for 2008? 

a.
$  540,000,000

b.
$  576,000,000  *
c.
$  750,000,000

d.
$  985,000,000

11.  What is Sebring’s amount of total  operating capital for 2008? 

a.
$  888,000,000

b.
$  900,000,000

c.
$1,275,000,000

d.
$1,476,000,000   *
12.   What is Sebring’s free cash flow for 2008? 

a.
$ 85,000,000

b.
$146,000,000

c.
$174,000,000   *
d.
$255,000,000

Chapter 4
13. All else being equal, which of the following will increase a company’s current ratio?

a.
An increase in accounts receivable. *

b.
An increase in accounts payable.

c.
An increase in net fixed assets.

d.
Statements a and b are correct.

14. 
Stennett Corp.’s CFO has proposed that the company issue new debt and use the proceeds to buy back common stock.  Which of the following are likely to occur if this proposal is adopted?  (Assume that the proposal would have no effect on the company’s operating income.)

a.
Return on assets (ROA) will decline.

b.
The Depreciation will increase.

c.
Taxes paid will decline.

d.
Statements a and c are correct.  *

15.
Bedford Hotels and Breezewood Hotels both have $100 million in total assets and a 10 percent return on assets (ROA).  Each company has a 40 percent tax rate.  Bedford, however, has a higher debt ratio and higher interest expense.  Which of the following statements is most correct?

a.
The two companies have the same return on equity (ROE).  
b.
Bedford has a higher return on equity (ROE).  *

c.
Bedford has a lower level of operating income (EBIT).

d.
Statements a and b are correct.

16.
Company J and Company K each recently reported the same earnings per share (EPS).  Company J’s stock, however, trades at a higher price. Which of the following statements is most correct?


a.
Company J must have a higher P/E ratio.  *


b.
Company J must have a higher market to book ratio.


c.
Company J must be riskier.


d.
Company J must have fewer growth opportunities.

17.   As a short-term creditor concerned with a company’s ability to meet its financial obligation to you, which one of the following combinations of ratios would you most likely prefer?

  Current        

 ADVANCE \l2Debt

 
  ratio   
  TIE     ratio

a.
0.8      
   1.3      0.3
b.
1.2    
   1.2      0.8
c.
1.7    
   1.2      0.8   
d.
2.0    
   1.3      0.55  *
18. Russell Securities has $100 million in total assets and its corporate tax rate is 40 percent.  The company recently reported that its basic earning power (BEP) ratio was 15 percent and its return on assets (ROA) was 9 percent.  What was the company’s interest expense?


a.
$         0  *


b.
$ 2,000,000


c.
$ 6,000,000


d.
$15,000,000

19.  You are given the following information:  Stockholders’ equity = $1,250; price/earnings ratio = 5; shares outstanding = 25; and market/book ratio = 1.5.  Calculate the market price of a share of the company’s stock.

a.
$ 33.33

b.
$ 75.00  *

c.
$ 10.00

d.
$166.67

20. 
Culver Inc. has earnings before interest and taxes (EBIT )of $300.  The company’s times interest earned ratio is 7.00.  Calculate the company’s interest charges.

a.
$42.86 *
b.
$50.00  

c.
$40.00

d.
$60.00

21.
The Wilson Corporation has the following relationships:
Sales/Total assets
2.0(
Return on assets (ROA)
4.0%

Return on equity (ROE)
6.0%

What is Wilson’s profit margin and debt ratio?

a.
2%; 0.33  *

b.
4%; 0.33

c.
4%; 0.67

d.
2%; 0.67

22. A fire has destroyed a large percentage of the financial records of the Carter Company.  You have the task of piecing together information in order to release a financial report. You have found the return on equity to be 18 percent.  If sales were $4 million, the debt ratio was 0.40, and total liabilities were $2 million, what would be the return on assets (ROA)?

a.
10.80%  *

b.
 0.80%

c.
 1.25%

d.
12.60%

23. A firm that has an equity multiplier of 4.0 will have a debt ratio of

a.
4.00

b.
3.00

c.
1.00

d.
0.75  *

24. The Merriam Company has determined that its return on equity is 15 percent. Management is interested in the various components that went into this calculation.  You are given the following information: total debt/total assets = 0.35 and total assets turnover = 2.8.  What is the profit margin?

a.
 3.48%  *

b.
 5.42%

c.
 6.96%

d.
 2.45%
USE THE FOLLOWING INFORMATION FOR THE NEXT TWO PROBLEMS


You are provided with the following information for a company.

	 Sales
	
	35000

	 Receivables
	
	750

	COGS
	
	
	20000

	 Inventory
	
	3000

	 Payables
	1500


25.
Calculate DSO (days sales outstanding) ratio




a)
7.83  *




b)
8.4



c)
55.1



d)
36.7

26. Calculate the inventory turnover ratio




a)
27.23




b)
13.3




c)
55.43




d)
11.67  *

You are provided with the following information about MaxCorp.

	Net sales
	
	
	5000

	Total Assets
	
	3000

	Depreciation
	
	260

	Net Income
	
	600

	Long term Debt
	
	2000

	Equity
	
	
	2160


  27.    Calculate the return on equity (ROE)




a)
20.4%




b)
17.8%




c)
22.4%




d)
27.8%  *

USE THE FOLLOWING INFORMATION FOR THE NEXT FIVE PROBLEMS

THE BRITISH PUB CORPORATION 

INCOME STATEMENT

FISCAL YEAR ENDING 12/31/200X

(DOLLARS IN THOUSANDS)

 --------------------------------------------------------------



Net sales



$1025



Cost of goods sold

  
682







-----



EBITDA


 
 343



Depreciation


  31



Operating expense

 
 103



Administrative expense   

  127







-----



EBIT



   82



Interest Expense


   27







-----



EBT


   
   55



Taxes



   17







-----



Net income



   38


 

THE BRITISH PUB CORPORATION 

BALANCE SHEET

FISCAL YEAR ENDING 12/31/200X

(DOLLARS IN THOUSANDS)

 -----------------------------ASSETS                 
           LIABILITIES




Cash


 $ 61     Notes payable
        
  $223




Accounts receivable  
  286     Accounts payable
152





Inventory           

   354     Accruals

 32

                    




  ----
                                          ----




Total current assets   
701     Total current liab.
407





Net fixed assets  

     802     Long term debt
306

                     



 ----     




Total Assets        

 $1503     Common stock
102








Retained earnings
688











 ----






       Total liabilities and







       stockholders' equity   


  $1503





The company has 68,000 shares outstanding.
28.   What was British Pub's current ratio for 200X?




a)
0.55

              

b)
1.73  *

           

c)
1.02




d)
1.37

29. What was British Pub's return on total assets for 200X?




a)
2.53%   *




b)
3.47%




c)
4.81%




d)
6.73%

30. What was British Pub's return on owners' equity in 200X?




a)
 4.81%   *




b)
 5.93%




c)
 6.75%




d)
 8.37%

31.  What was British Pub's book value per share at year-end 200X?




a)
$ 7.74




b)
$ 8.29




c)
$11.62   *




d) 
 $11.90

Chapter 5
32. Suppose you have $2,000 and plan to purchase a 3-year certificate of deposit (CD) that pays 4% interest, compounded annually.  How much will you have when the CD matures?

a.
$2,324.89

b.
$2,591.45

c.
$2,249.73  *

d.
$2,011.87

PV= -2,000; I=4%;N=3 PMT=0; FV=?

33. Suppose a U.S. government bond promises to pay $2,249.73 three years from now.  If the going interest rate on 3-year government bonds is 6%, how much is the bond worth today?

a.
$2,011.87

b.
$2,591.45

c.
$2,324.89

d.
$1,888.92   *

PV=?; I=6%; N=3; PMT=0; FV=2,249.73

34.
What is the future value of a 5-year ordinary annuity with annual payments of $200, evaluated at a 15 percent interest rate?

a.
$  670.44

b.
$  842.91

c.
$1,169.56

d.
$1,348.48   *

Financial calculator solution:

Inputs:  N = 5; I = 15; PV = 0; PMT = -200.  Output:  FV = $1,348.48.

35.
What is the present value of a 5-year ordinary annuity with annual payments of $200, evaluated at a 15 percent interest rate?

a.
$  670.43    *

b.
$  842.91

c.
$1,169.56

d.
$1,348.48

Financial calculator solution:

Inputs:  N = 5; I = 15; PMT = -200; FV = 0.  Output:  PV = $670.43.

36.
A real estate investment has the following expected cash flows:


Year
Cash Flows


1
$10,000


2
25,000


3
50,000


4
35,000

The discount rate is 8 percent. What is the investment’s present value?

a.
$103,799

b.
$ 96,110   *

c.
$ 95,353

d.
$120,000

PV = $10,000/1.08 + $25,000/(1.08)2 + $50,000/(1.08)3 + $35,000/(1.08)4

    = $9,259.26 + $21,433.47 + $39,691.61 + $25,726.04

    = $96,110.38 ( $96,110.

37.
If $100 is placed in an account that earns a nominal 4 percent, compounded quarterly, what will it be worth in 5 years?

a.
$122.02  *

b.
$105.10

c.
$135.41

d.
$120.90

Financial calculator solution:

Inputs:  N = 20; I = 1; PV = -100; PMT = 0.  Output:  FV = $122.02.

38.
In 1958 the average tuition for one year at an Ivy League school was $1,800.  Thirty years later, in 1988, the average cost was $13,700. 
What was the growth rate in tuition over the 30-year period?

a.
12%

b.
 9%

c.
 6%

d.
 7%  *

Financial calculator solution:

Inputs:  N = 30; PV = -1800; PMT = 0; FV = 13700.  Output:  I = 7.0%.

39.
At an inflation rate of 9 percent, the purchasing power of $1 would be cut in half in 8.04 years.  How long to the nearest year would it take the purchasing power of $1 to be cut in half if the inflation rate were only 4 percent?

a.
12 years

b.
15 years

c.
18 years   *

d.
20 years

Financial calculator solution:

Inputs:  I = 4; PV = -1; PMT = 0; FV = 0.50.

Output:  N = -17.67  18 years.

40.
South Penn Trucking is financing a new truck with a loan of $10,000 to be repaid in 5 annual end-of-year installments of $2,504.56.  What annual interest rate is the company paying?

a.
 7%

b.
 8%  *

c.
 9%

d.
10%

Financial calculator solution:

Inputs:  N = 5; PV = 10000; PMT = -2504.56; FV = 0.  Output:  I = 8%.

41.
Gomez Electronics needs to arrange financing for its expansion program. Bank A offers to lend Gomez the required funds on a loan in which interest must be paid monthly, and the quoted rate is 8 percent.  Bank B will charge 9 percent, with interest due at the end of the year.  What is the difference in the effective annual rates charged by the two banks?

a.
0.25%

b.
0.50%

c.
0.70%  *

d.
1.00%

Bank A:
8%, monthly.
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 = 8.30%.

Bank B:
9%, interest due at end of year

EARB = 9%.


9.00% - 8.30% = 0.70%.

42.
You recently received a letter from Cut-to-the-Chase National Bank that offers you a new credit card that has no annual fee.  It states that the annual percentage rate (APR) is 18 percent on outstanding balances. 
What is the effective annual interest rate?  (Hint:  Remember these companies bill you monthly.)

a.
18.81%

b.
19.56%   *

c.
19.25%

d.
20.00%

Use the formula for calculating effective rates from nominal rates as follows:

EAR = (1 + 0.18/12)12 - l = 0.1956 or 19.56%.

43.
Jill currently has $300,000 in a brokerage account.  The account pays a 10 percent annual interest rate.  Assuming that Jill makes no additional contributions to the account, how many years will it take for her to have $1,000,000 in the account?

a.
23.33 years

b.
 3.03 years

c.
16.66 years

d.
12.63 years  *

Enter the data given in your financial calculator:

I = 10; PV = -300000; PMT = 0; FV = 1000000.  Then solve for N = 12.63 years.

44.
You are considering buying a new car.  The sticker price is $15,000 and you have $2,000 to put toward a down payment.  If you can negotiate a nominal annual interest rate of 10 percent and you wish to pay for the car over a 5-year period, what are your monthly car payments?

a.
$216.67

b.
$252.34

c.
$276.21  *

d.
$285.78

First, find the monthly interest rate = 0.10/12 = 0.8333%/month.  Now, enter in your calculator N = 60; I/YR = 0.8333; PV = -13000; FV = 0; and then solve for PMT = $276.21.

45.
Today, Bruce and Brenda each have $150,000 in an investment account.  No other contributions will be made to their investment accounts.  Both have the same goal:  They each want their account to reach $1 million, at which time each will retire.  Bruce has his money invested in risk-free securities with an expected annual return of 5 percent.  Brenda has her money invested in a stock fund with an expected annual return of 
10 percent.  How many years after Brenda retires will Bruce retire?

a.
12.6

b.
19.0   *

c.
19.9

d.
29.4

Step 1:
Find the number of years it will take for each $150,000 investment to grow to $1,000,000.

BRUCE:  I/YR = 5; PV = -150000; PMT = 0; FV = 1000000; and then solve for N = 38.88.

BRENDA:  I/YR = 10; PV = -150000; PMT = 0; FV = 1000000; and then solve for N = 19.90.

Step 2:
Calculate the difference in the length of time for the accounts to reach $1 million:

Bruce will be able to retire in 38.88 years, or 38.88 – 19.90 = 19.0 years after Brenda does.

Chapter 6
46.   If the yield curve is downward sloping, what is the yield to maturity on a 10-year Treasury coupon bond, relative to that on a 1-year T-bond?

a.
The yield on the 10-year bond is less than the yield on a 1-year bond.   *
b.
The yield on a 10-year bond will always be higher than the yield on a 1-year bond because of maturity risk premiums.

c.
It is impossible to tell without knowing the coupon rates of the bonds.

d.
The yields on the two bonds are equal.

47.  The real risk-free rate of interest, k*, is expected to remain constant at 3 percent.  Inflation is expected to be 3 percent for next year and then 2 percent a year thereafter.  The maturity risk premium is zero. Given this information, which of the following statements is most correct?

a.
The yield curve for U.S. Treasury securities is downward sloping.  *
b.
A 5-year corporate bond has the same yield as a 7-year Treasury security.

c.
A 5-year corporate bond has a higher yield than a 7-year Treasury security.

d.
All of the statements above are correct.  
48.
Which of the following statements is most correct?

a.
If companies have fewer productive opportunities, interest rates are likely to increase.

b.
If individuals increase their savings rate, interest rates are likely to increase.

c.
If expected inflation increases, interest rates are likely to increase.  *
d.
All of the statements above are correct.

49.  Given the following data, find the expected rate of inflation during the next year.

· k* = real risk-free rate = 3%.

· Maturity risk premium on 10-year T-bonds = 2%.  It is zero on 1-year bonds, and a linear relationship exists.

· Default risk premium on 10-year, A-rated bonds = 1.5%.

· Liquidity premium = 0%.

· Going interest rate on 1-year T-bonds = 8.5%.

a.
3.5%

b.
4.5%

c.
5.5%    *
d.
6.5%

50.  One-year government bonds yield 3 percent and 2-year government bonds yield 4 percent. Assume that the expectations theory holds.  What does the market believe the rate on 1-year government bonds will be one year from today?

a.
5.00%   *

b.
5.50%

c.
3.75%

d.
4.00%

Chapter 8
51..You observe the following information regarding Company X and Company Y:

· Company X has a higher expected mean return than Company Y.

· Company X has a lower standard deviation than Company Y.

· Company X has a higher beta than Company Y.


Given this information, which of the following statements is most correct?

a.
Company X has a lower coefficient of variation than Company Y *

b.
Company X has more company-specific risk than Company Y.

c.
Company X is a better stock to buy than Company Y.

d.
Statements a and b are correct.

Statement a is correct, since the coefficient of variation is equal to the standard deviation divided by the mean.  

52.
Which of the following statements is most correct?  (Assume that the risk-free rate remains constant.)

a.
If the market risk premium increases by 1 percentage point, then the required return on all stocks will rise by 1 percentage point.

b.
If the market risk premium increases by 1 percentage point, then the required return will increase for stocks that have a beta greater than 1.0, but it will decrease for stocks that have a beta less than 1.0. 

c.
If the market risk premium increases by 1 percentage point, then the required return will increase by 1 percentage point for a stock that has a beta equal to 1.0. *

d.
Statements a and c are correct.

CAPM equation:  ks = kRF + (kM - kRF)b

If the market risk premium (measured by kM - kRF) goes up by 1.0, then the required return for each stock will change by its beta times 1.0. Therefore, a stock with a beta of 0.5 will see its required return go up by 0.5 percentage point.  Therefore, statement a is false.  As just shown in statement a, a stock with a beta of 0.5 will see its required return increase by 0.5 percentage point.  All stocks with positive betas will see their required returns increase.  Therefore, statement b is false.  If the market risk premium increases by 1 percentage point, then the required return increases by 1.0 times the stock’s beta.  Therefore, the required return of a stock with a beta coefficient equal to 1.0 will increase by 1 percentage point, and statement c is correct.

53. A highly risk-averse investor is considering the addition of an asset to a 10-stock portfolio.  The two securities under consideration both have an expected return, 

, equal to 15 percent.  However, the distribution of possible returns associated with Asset A has a standard deviation of 12 percent, while Asset B’s standard deviation is 8 percent.  Both assets are correlated with the market with r equal to 0.75.  Which asset should the risk-averse investor add to his/her portfolio?

a.
Asset A.

b.
Asset B.  *

c.
Both A and B.

d.
Neither A nor B.

54.
Stock A has a beta of 1.5 and Stock B has a beta of 0.5.  Which of the following statements must be true about these securities?  (Assume the market is in equilibrium.)

a.
When held in isolation, Stock A has greater risk than Stock B.

b.
Stock B would be a more desirable addition to a portfolio than Stock A.

c.
Stock A would be a more desirable addition to a portfolio than Stock B.

d.
The expected return on Stock A will be greater than that on Stock B.  *

55.
Over the past 75 years, we have observed that investments with higher average annual returns also tend to have the highest standard deviations in their annual returns.  This observation supports the notion that there is a positive correlation between risk and return.  Which of the following lists correctly ranks investments from having the highest returns and risk to those with the lowest returns and risk?

a.
Small-company stocks, large-company stocks, long-term corporate bonds, long-term government bonds, U.S. Treasury bills.  *

b.
Small-company stocks, long-term corporate bonds, large-company stocks, long-term government bonds, U.S. Treasury bills.

c.
Large-company stocks, small-company stocks, long-term corporate bonds, U.S. Treasury bills, long-term government bonds.

d.
U.S. Treasury bills, long-term government bonds, long-term corporate bonds, small-company stocks, large-company stocks.

The correct answer is statement a.  Stocks are riskier than bonds, with stocks in small companies being riskier than stocks in larger companies. From there, corporate bonds are riskier than government bonds, and longer-term government bonds are riskier than shorter-term ones.

56.
The risk-free rate is 6 percent.  Stock A has a beta of 1.0, while Stock B has a beta of 2.0.  The market risk premium (kM – kRF) is positive. Which of the following statements is most correct?

a.
Stock B’s required rate of return is twice that of Stock A.

b.
If Stock A’s required return is 11 percent, the market risk premium is 5 percent.  *

c.
If the risk-free rate increases (but the market risk premium stays unchanged), Stock B’s required return will increase by more than Stock A’s.

d.
Statements b and c are correct.

The CAPM is written as:  ks = kRF + (kM – kRF)b.  Statement a is false based on the CAPM equation.  Statement b is correct on the basis of the CAPM equation.  Statement c is false; the required returns will increase by the same amount.

57.
Assume that the risk-free rate is 5 percent. Which of the following statements is most correct?

a.
If a stock’s beta doubles, the stock’s required return will also double.

b.
If a stock’s beta is less than 1.0, the stock’s required return is less than 5 percent.

c.
If a stock has a negative beta, the stock’s required return is less than 5 percent. *

d.
All of the statements above are correct.

The correct answer is statement c.  Here, the required rate is ks = 5% + b ( RPM. If a stock’s beta doubles, b becomes 2b.  So, ks = 5% + 2b ( RPM.  But doubling its required return would require the equation to be 2(5% + b ( RPM) = 10% + 2b ( RPM.  So, statement a is incorrect.  Statement b would be correct only if the beta coefficient were negative. Therefore, statement b is incorrect.  Statement c is correct.  If b < 0 and RPM > 0, then (b ( RPM) < 0. So, ks < 5%.

58.
The risk-free rate of interest, kRF, is 6 percent.  The overall stock market has an expected return of 12 percent.  Hazlett, Inc. has a beta of 1.2.  What is the required return of Hazlett, Inc. stock?

a.
12.0%

b.
12.2%

c.
12.8%

d.
13.2%  *

ks = kRF + (kM - kRF)b

   = 6% + (12% - 6%)1.2

   = 13.2%.

59.
A stock has an expected return of 12.25 percent.  The beta of the stock is 1.15 and the risk-free rate is 5 percent.  What is the market risk premium?

a.
 1.30%

b.
 6.50%

c.
15.00%

d.
 6.30%  *

12.25% = 5% + (RPM)1.15

 7.25% = (RPM)1.15

   ADVANCE \r2RPM = 6.3043% ( 6.30%.
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